
Page 8-12 2012 Precedent Illustrated Parts List

G

E

8

D

2

7

1

3

11

5

10

9

2 846

10

000215-003



E

G

8

2012 Precedent Illustrated Parts List Page 8-13

ITEM PART NO. DESCRIPTION

1    2    3    4

QTY

D

GOVERNOR AND ACCELERATOR CABLES

1 1011697 Washer, 5/16 Flat ........................................................................................................................................ 1
2 1012285 Screw, 1/4 X 0.625 Hex-Head ................................................................................................................. 4
3 1012830 Screw, M8-125 X 22 Hex-Head .............................................................................................................. 1
4 1013700 Clamp ............................................................................................................................................................. 2
5 101584502 Bracket, Governor Cable Snap-In ......................................................................................................... 1
6 1016546 Nut ................................................................................................................................................................... 2
7 101832202 Bracket, Rear Governor Cable Snap-In ............................................................................................... 1
8 101832302 Bracket, Rear Accelerator Cable Snap-In ........................................................................................... 1
9 102336001 Cable, Governor, Snap-In ........................................................................................................................ 1

10 102595101 Cable, Acc, Snap-in (Generation 2) ...................................................................................................... 1
11 7174 Lockwasher, 5/16 Split ............................................................................................................................. 1


